normalized X2

107

< x2/ndf >

Ratio

< x2/ ndf >

Ratio

Ratio

<dpp. > (%)

[ normalized x? probability |

chiz Chiz_prob
Entries 2623 Entries 2623
Mean 1.164 Mean 04529
Std Dev. 07736 + = | std Dev 03008

chiz I R Chiz_prol
Entries 2488 + " [Entries 2488
Mean 1.229 Mean 04383
Std Dev 0.7957 + - | Std Dev 0.326

chiz chiz_prob
Entries 2527 - [Entries 2527
Mean 1.227 Mean 04394
Std Dev . Lstd pev 03264

XZ

(62}

1.5

iy

0.5

R
=== DOM_V0001,

8 10 12 14 16 18 20

%%0.10.203 04 0506

070809 1
Prob(x?)

T

op,1p. > (%)

N H
RO00000001__ Global__CMSSW_ckiPUS0__REC
= DQM_V0001_R000000001__Global_CMSSW_mkFitPUS0Low
m—— DQM_V0001_R000000001__Global__CMSSW_scmod05_RECO
e DQM_V0001_R000000001_Global__CMSSW_scmod05+dup_R

o
Pt

T R

=

-2
-3

-4

3

F—

N

ol

N

1.5

iy

iy

-2

-3

-2
1.5F
1E --H-
0.5

Ratio

¢

< X2/ ndf >

i

Ratio

1072

-1
AR(track, jelts)



	Contents
	Page 1


